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(Theory)

Group - A

1. Answer any three from the following questions : 12×3=36

(a) Describe the structure of adrenal gland with proper diagram. Write down the functions of
different zones of adrenal cortex. 9+3

(b) Describe briefly the steps of Pentose-Phosphate Pathway and comment on its significance.
10+2

(c) What is resting membrane potential ? How is action potential generated in neuron during
the conduction of nerve impulse? Elucidate with diagram, how the nerve impulse is
propagated through a myelinated and non-myelinated nerve fiber.

1+6+5



(d) Distinguish between Oxidative and Non-oxidative deamination with suitable example.
Write down the steps of -oxidation of palmitic acid. 5+7

(e) Describe the structure of a mammalian nephron with diagram. Explain briefly the role of
Counter-current mechanism of urine formation. 6+6

(f) What is junctional tissue of heart ? Describe the role of hemoglobin in oxygen transport.
4+8

Group - B

2. Answer any two from the following questions : 2×2=4

(a) Define : Gluconeogenesis.

(b) State the role of troponin and tropomyosin in muscle contraction.

(c) What is Vital Capacity (VC) ?

(d) Define : Michaelis constant.
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(Practical)

Paper - DSC-1C/2C/3C-P
(Physiology & Biochemistry)

Marks : 20

Group - A

1. Answer any one from the following questions : 15×1=15

(a) Describe suitable qualitative tests to identify presence of Glucose and Sucrose in a given
solution. 7½+7½

(b) Describe the principle and procedure of total protein estimation in a given solution by
Lowry’s method. 15

(c) State the principle and procedure of preparation of Haemin crystal from your blood. How
can you differentiate between the Haemin crystal of man and guinea pig morphologically?

5+8+2



Group - B

2. Answer any one from the following questions : 5×1=5

     Identify with characters.

(a) Pancreas

(b) Lung

(c) Thyroid
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